
Page 1 of 1 - 1/28/2008 – Rev122006 

INSTALLATION INSTRUCTIONS 
MOUNTING KIT #077 FOR THE LAND ROVER DEFENDER 90 UP TO ‘95 

 
Please read and fill out the enclosed warranty registration card to activate your warranty. 

 
 

PARTS CHECKLIST   
 

 (2) 1” Spacers   
 (2) 5/16 x 1 ¾” Bolts 

 
 
 
1. Follow the installation instructions for the console but replace the portion of the instructions about fastening the 

console to the vehicle with these steps.   
 
2. For this mounting application the mounting bracket included with the console and some of the mounting hardware will 

not be used. 
 
3. Fasten down the console with (3) 5/16 x 1 ¾” bolts ((2) included with this shipping package), (3) 5/16 nylock nuts 

(included in the console’s shipping package), and (6) 5/16” washers (included in the console’s shipping package) 
using (2) 1” spacers under the rear of the console.   (SEE FIGURE 2) 

 
 

Call (970) 564-1762 for Technical Support 
 
 


